

$\frac{1}{x^2} = x^{-2}$
 $\frac{d}{dx} x^{-2} = -2x^{-3} = -\frac{2}{x^3}$
 $\frac{d}{dx} \frac{1}{x^2} = -\frac{2}{x^3}$

2.

$\frac{d}{dx} (x^2 + 3x - 5) = 2x + 3$
 $\frac{d}{dx} (x^2 + 3x - 5) = 2x + 3$
 $\frac{d}{dx} (x^2 + 3x - 5) = 2x + 3$

$\frac{d}{dx} (x^2 + 3x - 5) = 2x + 3$
 $\frac{d}{dx} (x^2 + 3x - 5) = 2x + 3$
 $\frac{d}{dx} (x^2 + 3x - 5) = 2x + 3$

$\frac{d}{dx} (x^2 + 3x - 5) = 2x + 3$
 $\frac{d}{dx} (x^2 + 3x - 5) = 2x + 3$

$\frac{d}{dx} (x^2 + 3x - 5) = 2x + 3$
 $\frac{d}{dx} (x^2 + 3x - 5) = 2x + 3$

/□
7

. □ □ □ □ □ □
/ □ □ □ □
0 □ □ □ □
1 □ □ □ □ □ □
2 □ □ □ □ □
3 □ □ - □
4 □ □ □ □ □
5 □ □ □ □
6 □ □ □ □ □ □

7

□ □ □ □ □ □ □ □ □ □ □ □

1.

	5	5	7	8	4
5		12	13	11	2
5	12		4	4	7
7	13	4		2	5
8	11	4	2		11
4	2	7	5	11	

2.

	3	2	12	8	7
3		3	4	5	6
2	3		3	5	4
12	4	3		2	10
8	5	5	2		11
7	6	4	10	11	

. □ □ □ □ □ □ □ □ □
/ □ □ □ □ □ □ □ □
0 □ □ □ □ □ □ □ □ □

□ □ □ □ □ □ □ □ □ □ □

7

1.

1	4	2	4
5	-4	3	3
-5	2	8	1
4	-3	1	5

2.

5	6	1	1
1	1	2	1
1	1	-1	3
7	6	5	2

3.

-5	4	3	4
1	3	-6	4
1	2	-2	3
6	3	2	1

	0
--	---

	1
	1,5
	1
	0,5
	0

7

)A);

)B).

A_{max} 7 ---

$$R_{100} = \text{Min}(100, 100 (A+B) / A_{max}).$$

1.

5-	10-	2. ---
	10	95-100
	9	91-62
	8	86-90
	7	79-52
	6	71-45
	5	63-4-
	4	56-3/
	3	38-22
	2	19-04
	1	0-. 5

7. ,

-

